## OPENING OF BIDS AND TIMBER SALE AWARD

Form 2400-006 (R 03/22)

Page 1 of 2

State of Wisconsin
Department of Natural Resources
PO Box 7921, Madison WI 53707-7921
www.dnr.wi.gov

PROPERTY NAME Big Swamp WA	TIME AND DATE OF BID OPENING 10:00 AM - November 15th, 2022							
BID OPENING LOCATION (STREET ADDRESS)	CITY	STATE	ZIP CODE					
407 S. 2nd St.	Alma	WI	54610					
PROP. CODE-TRACT NOTRACT YR.	TIMBER SALE NAME							
615-1-23	Hooter Hill TS							
SALES ADVERTISED ON DNR WEBSITE AND THE FOLLOWING Arrow Shopper, Trempealeau County Times, The Shopper, I								
Pursuant to public notice in the above newspapers seale	ed bids for this tract of timber were opene	ed and co	mpared					
THE FOLLOWING PERSONS WERE IN ATTENDANCE:			9					
1. Matt Raabe	9.							
2. Adam Foehringer	10.							
3.	11.							
4.	12.		5					
5.	13.							
6.	14.							
7.	15.							
8.	16.							
ON THE BASIS OF THE BIDS SUMMARIZED ON THE REVERSE SIDE OF THIS SHEET, THIS TIMBER SALE WAS AWARDED TO:	REMARKS							
NAME Spring Hill Forestry LLC								
STREET OR ROUTE N9435 Hwy 79								
CITY, STATE, ZIP CODE Boyceville, WI								
Witnessed By Dept. Staff	I hereby certify that the information contained in this report is correct and in agreement with the sealed bids submitted on this sale.							
Mutt Maal	NAME Mon On	-	uje					
	TITLE DNR Fores		-					

1 01111 2400-000 (K 03)	22)				COMPA	KISON OF E	3וח2					Page 2
Prop. Code-Tract NoTract Yr. 615-1-23			Wood Creek Sawmill Spring Hill Mondovi, WI Boyceville		ll Forestry							
Sale Name Hooter Hill TS		Boyceville, WI										
Species	Product Code	Estimated Volume	Bid Per Unit	Total Bid	Bid Per Unit	Total Bid	Bid Per Unit	Total Bid	Bid Per Unit	Total Bid	Bid Per Unit	Total Bid
Mixed Hardwood	10	70	115	8,050	160	11,200						
Mixed Hardwood	20T	475	1.31	622.25	2	950						
Mixed Oak	10	45	115	5,175	160	7,200						
Mixed Oak	20T	175	1.31	229.25	2	350						
Ash	10	18	115	2,070	160	2,880						
Ash	20T	135	1.31	176.85	160	270				•		
			-							5		
										Á.		
	is .									- 4 +		
						×						
				9								
						=						
				6								
											,	
				100								
								45				
							-	1				
Total Minimum Acceptable Bid:	\$15,57	17.00	Total Bid Value: \$	16,323.35	Total Bid Value: \$	22,850	Total Bid Value: \$		Total Bid Value: \$		Total Bid Value: \$	

## OPENING OF BIDS AND TIMBER SALE AWARD

Form 2400-006 (R 03/22)

Page 1 of 2

State of Wisconsin
Department of Natural Resources
PO Box 7921, Madison WI 53707-7921
www.dnr.wi.gov

·							
PROPERTY NAME	TIME AND DATE OF BID OPENING						
Tiffany WA	10:00 AM - November 15th, 2022	27475 715 2255					
BID OPENING LOCATION (STREET ADDRESS)	CITY	STATE ZIP CODE					
407 S. 2nd St.	Alma	WI 54610					
PROP. CODE-TRACT NOTRACT YR.	TIMBER SALE NAME						
628-3-23	Huck's Ash TS						
SALES ADVERTISED ON DNR WEBSITE AND THE FOLLOWING Arrow Shopper, Trempealeau County Times, The Shopper, I	NEWSPAPERS: Banner Journal, Clark County Press						
Pursuant to public notice in the above newspapers seale	ed bids for this tract of timber were open	ed and compared					
THE FOLLOWING PERSONS WERE IN ATTENDANCE:							
1. Matt Raabe	9.						
2. Adam Foehringer	10.						
3.	11.						
4.	12.						
5.	13.						
6.	14.						
.7.	15.						
8.	16.						
ON THE BASIS OF THE BIDS SUMMARIZED ON THE REVERSE SIDE OF THIS SHEET, THIS TIMBER SALE WAS AWARDED TO:	REMARKS						
NAME Spring Hill Forestry LLC							
STREET OR ROUTE N9435 Hwy 79							
CITY, STATE, ZIP CODE Boyceville, WI 54725							
Witnessed By Dept. Staff  Mach	I hereby certify that the information contained in this report is correand in agreement with the sealed bids submitted on this sale.						
MINONVINAUM	NAME Olekan For	keinge					
	TITLE DNR Fores						

Form 2400-006 (R 03	/22)				COMPA	ARISON OF E	BIDS					Dans 2
Prop. Code-Tract NoTract Yr. 628-3-23 Sale Name Huck's Ash TS				Spring Hill Forestry  Boyceville, WI			,				Page 2 d	
										Τ		
Species	Product Code	Estimated Volume	Bid Per Unit	Total Bid	Bid Per Unit	Total Bid	Bid Per Unit	Total Bid	Bid Per Unit	Total Bid	Bid Per Unit	Total Bid
Mixed Hardwood	10	45	55	2,475	100	4,500				, otal Bid	Onne	Total Blu
Mixed Hardwood	20T	220	5.2	1,144	2	440						
Mixed Oak	10	10	55	550	100	1,000						
Mixed Oak	20T	80	5.2	416	2	160	-					
Ash	10	75	55	4,125	100	7,500		1		-/53*		
Ash	20T	245	5.2	1,274	2	490						
		Dr.										
						4		3				
	,									70.0		
												9
									-	į.		
			).									
	1											
		,										
	1		- 1									

Total Minimum Acceptable Bid:

\$14,060.00

Total Bid Value: \$ Total Bid 9,984 Value: \$

Total Bid 14,090 Value: \$

Total Bid Value: \$ Total Bid Value: \$